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1-	 çkxSfrgkfld dky ds ekuo thou dh tkudkjh ds fy;s çkxSfrgkfld xqiQkvksa esa ,oa 
f'kykvksa ij fufeZr fp=k egÙoiw.kZ lk{; gSaA çkxSfrgkfld fp=kdyk dh fo'ks"krkvksa dk 
mYys• djrs gq, ,sfrgkfld lk{; ds :i esa bu fp=kksa ds egÙo dk ewY;kadu dhft;sA

(150 'kCnksa esa mÙkj nhft;s)
	 Paintings made in prehistoric caves and on rocks are important evidence for 

information about human life of prehistoric period. Evaluate the importance of these 
paintings as historical evidence by mentioning the features of prehistoric painting. 

	 (Answer in 150 words) 10 Marks
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2-	 laxe lkfgR; nf{k.k Hkkjr dh lkekftd ,oa lkaLÑfrd fo'ks"krkvksa dks tkuus dk egÙoiw.kZ 
lzksr gSaA fVIi.kh dhft;sA	 (150 'kCnksa esa mÙkj nhft;s)

	 Sangam literature is an important source of social and cultural features of South India. 
Comment.	   (Answer in 150 words) 10 Marks
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3-	 ¶xqIrdkyhu ewfrZdyk esa fons'khiu dk vHkko gS] ;g 'kq¼ Hkkjrh; dyk ds :i esa fodflr 
gqbZA¸ bl dFku ds vkyksd esa xqIrdkyhu ewfrZdyk dh fo'ks"krkvksa dk mYys• djrs gq, 
dq"kk.kdkyhu ewfrZdyk ls bldh fHkUurk dks Li"V dhft;sA	

(150 'kCnksa esa mÙkj nhft;s)

	 “Gupta sculpture lacks foreignness, it developed as pure Indian art.” In the light 
of this statement explain its difference from Kushana sculpture by mentioning the 
characteristics of Gupta sculpture. 	 (Answer in 150 words) 10 Marks
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4-	 vesfjdh Økafr ml lkekftd ,oa jktuhfrd O;oLFkk ds fo#¼ la?k"kZ Fkk tks vc vesfjdk 
ds fy;s mi;ksxh ugha jg xbZ FkhA blus vesfjdh lekt dks yksdrkaf=kd Lo:i çnku djus 
ds lkFk gh ;wjksi esa Økafr dh vkx dks HkM+dk;kA ppkZ dhft;sA

(150 'kCnksa esa mÙkj nhft;s)
	 The American Revolution was a struggle against the social and political system that 

was no longer useful to America. It ignited the fire of revolution in Europe along with 
giving a democratic form to American society. Discuss.	  

	 (Answer in 150 words) 10 Marks
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5-	 Úsadfyu Mh- :”kosYV ds U;w Mhy dk;ZØe dk ijh{k.k dhft;sA D;k ;g vius mís';ksa dks 
çkIr djus esa liQy jgk\ 	 (150 'kCnksa esa mÙkj nhft;s)

	 Examine Franklin D. Roosevelt's New Deal program. Was it successful in achieving 
its objectives? 	 (Answer in 150 words) 10 Marks
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6-	 lkaçnkf;drk dk mn; vo'; gh vaxzs”kksa ds Hkkjr esa ços'k ds lkFk gqvk] ijarq 1885 ds 
ckn dkWUxzsl ds }kjk lkaçnkf;drk ds Lo:i dks iwjh rjg le> ikus esa vliQy jgus ds 
dkj.k blds xaHkhj ifj.kke gq,A fVIi.kh dhft;sA	 (150 'kCnksa esa mÙkj nhft;s)

	 The rise of communalism certainly coincided with the entry of the British into 
India, but after 1885, due to the failure of Congress to fully understand the nature of 
communalism, it had serious consequences. Comment. 	

(Answer in 150 words) 10 Marks
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7-	 19oha ,oa 20oha 'krkCnh ds lkekftd&èkkfeZd lqèkkj vkanksyuksa us lekt dks fofHkUu cqjkb;ksa 
ls eqfDr fnykus ds lkFk gh Lora=krk laxzke ds fy;s vkèkkj çnku fd;kA fo'ys"k.k dhft;sA

(150 'kCnksa esa mÙkj nhft;s)

	 The socio-religious reform movements of the 19th and 20th centuries provided the 
basis for the freedom struggle along with ridding the society of various evils. Analyze. 

	 (Answer in 150 words) 10 Marks
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8-	 vaxzs”kksa }kjk vko';drkuqlkj Hkkjrh; Hkw&jktLo O;oLFkk esa O;kid ifjorZu fd;s x,A muds 
}kjk ykxw dh xbZ Hkw&jktLo ç.kkyh {ks=k vkSj Lo:i esa rks fHkUu Fkh] ijarq mís'; ,d gh 
FkkA fVIi.kh dhft;sA	 (150 'kCnksa esa mÙkj nhft;s)

	 Extensive changes were made in the Indian land revenue system as per the need of 
British. The land revenue system implemented by them was different in scope and 
nature but the purpose was same. Comment.	 (Answer in 150 words) 10 Marks
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9-	 1909 esa fd;s x, ekyZs&feaVks lqèkkjksa dk mís'; Hkkjrh;ksa esa c<+ jgh ,drk dh Hkkouk dks 
de”kksj djuk FkkA ;s lqèkkj vius bl mís'; esa dgk¡ rd liQy jgs\ ppkZ dhft;sA		

	 (150 'kCnksa esa mÙkj nhft;s)
	 The purpose of the Morley-Minto reforms in 1909 was to weaken the growing sense of 

unity among Indians. To what extent were these reforms successful in their objective? 
Discuss.	 (Answer in 150 words) 10 Marks
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10-	 eqfLye yhx ,oa vaxzs”kksa ds eè; lgefr rks Hkkjr ds foHkktu dk vkèkkj Fkh gh] ijarq dkWUxzsl 
us foHkktu dks jksdus ds vius ç;Ruksa dks D;ksa NksM+ fn;k\ D;k ;g dkWUxzsl ds usrkvksa dk lÙkk 
ds çfr yksHk dk ifj.kke Fkk\ fVIi.kh dhft;sA	 (150 'kCnksa esa mÙkj nhft;s)

	 The agreement between the Muslim League and the British was the basis for the 
partition of India, but why did the Congress abandon its efforts to stop the partition? 
Was it the result of greed for power of Congress leaders? Comment.

	 (Answer in 150 words) 10 Marks
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11-	 Hkkjr esa rqdhZ 'kklu dh LFkkiuk us lkekftd] jktuhfrd ,oa lkaLÑfrd çR;sd {ks=k esa 
egÙoiw.kZ ifjorZu fd;sA bldk lcls çHkko'kkyh ,oa egÙoiw.kZ :i okLrqdyk esa ifjyf{kr 
gksrk gSA leUo; ij vkèkkfjr bl uohu 'kSyh dh çeq• fo'ks"krkvksa dk mYys• dhft;sA

(250 'kCnksa esa mÙkj nhft;s)
	 The establishment of Turkish rule in India brought about significant changes in 

every social, political and cultural sphere. Its most influential and important form is 
reflected in the architecture. Mention the salient features of this new style based on 
coordination. 	 (Answer in 250 words) 15 Marks
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12-	 Ñf"k O;oLFkk esa gq, uohu ifjorZuksa us fdl çdkj ckS¼ ,oa tSu èkeZ ds mn; dk 
ekxZ ç'kLr fd;k\ D;k ;g ifjorZu bu èkeks± ds mn; dk ,dek=k dkj.k Fkk\ fVIi.kh 
dhft;sA	 (250 'kCnksa esa mÙkj nhft;s)

	 How did the new changes in the agricultural system paved the way for the rise of 
Buddhism and Jainism? Was this change the only reason for the rise of these religions? 
Comment.	 (Answer in 250 words) 15 Marks
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13-	 xqV fujis{k n`f"Vdks.k dh çsj.kk dbZ lzksrksa ls caèkh Fkh] ftlus uoksfnr jk"Vªksa dks jk"Vªh; ,oa 
varjkZ"Vªh; ç'uksa ij Lora=k n`f"Vdks.k fodflr djus dk volj fn;kA rRdkyhu varjkZ"Vªh; 
ifjn`'; esa blds egÙo dk ewY;kadu dhft;sA 	 (250 'kCnksa esa mÙkj nhft;s)

	 The inspiration for the non-aligned approach came from several sources, which gave 
budding nations an opportunity to develop independent perspectives on national and 
international questions. Evaluate its importance in the then international scenario. 		
		 (Answer in 250 words) 15 Marks
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14-	 jk"Vª la?k ds Lo:i esa fufgr de”kksfj;ksa us gh bldh v{kerk dk fuèkkZj.k dj fn;k Fkk] 
ftlds dkj.k ;g vius mís';ksa dks çkIr djus esa vliQy jgkA fo'ys"k.k dhft;sA 

	 (250 'kCnksa esa mÙkj nhft;s)
	 Its inefficiency was determined by the inherent weaknesses in the nature of the League 

of Nations, due to which it failed to achieve its objectives. Analyze.

	 (Answer in 250 words) 15 Marks
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15-	 lekt ds fuEu oxks± ds m¼kj ds fy;s T;ksfrck iQqys }kjk fd;s x, ç;klksa dk ijh{k.k 
dhft;sA buds }kjk fd;s x, ç;kl dgk¡ rd liQy jgsA foospuk dhft;sA 	

(250 'kCnksa esa mÙkj nhft;s)
	 Examine the efforts made by Jyotiba Phule for the upliftment of the lower classes of 

the society. To what extent were his efforts successful? Discuss.

	 (Answer in 250 words) 15 Marks
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16-	 ykWMZ osys”kyh dh uhfr;ksa us u dsoy vaxzs”kksa ds vèkhu çns'kksa dk foLrkj fd;k vfirq 
Hkkjrh; jkT;ksa dks Hkh daiuh ij fuHkZj cuk fn;kA mu ifjfLFkfr;ksa dk mYys• dhft;s ftUgksaus 
osys”kyh dks foLrkj uhfr viukus ds fy;s çsfjr fd;kA 	 (250 'kCnksa esa mÙkj nhft;s)

	 The policies of Lord Wellesley not only expanded the territories under the British but 
also made the Indian states dependent on the Company. Mention the circumstances 
which prompted Wellesley to adopt the extension policy. 

	 (Answer in 250 words) 15 Marks
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17-	 cDlj ds ;q¼ ds i'pkr~ pj.kc¼ rjhds ls vkfFkZd nksgu gh daiuh dk eq[; mís'; FkkA 
blds fy;s vko';d Fkk fd Hkkjrh; vFkZO;oLFkk ds ijaijkxr Lo:i dks rksM+dj mls 
vkSifuosf'kd Lo:i çnku fd;k tk,A bl fn'kk esa vaxzs”kksa }kjk fd;s x, ç;klksa dk mYys• 
dhft;sA	 (250 'kCnksa esa mÙkj nhft;s)

	 After the battle of Buxar, economic exploitation in a phased manner was the main 
objective of the company. For this it was necessary to break the traditional form of the 
Indian economy and give it a colonial form. Mention the efforts made by the British 
in this direction. 	 (Answer in 250 words) 15 Marks
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18-	vfç; fczfV'k lkezkT; ds la;qDr fojksèk ds lkeus LokFkZiw.kZ ç;kstu vfèkd egÙoiw.kZ ugha 
FksA vketu dh vR;fèkd Hkkxhnkjh ds ckn Hkh os dkSu&ls dkj.k Fks ftUgksaus foæksfg;ksa dks 
vkReleiZ.k ds fy;s etcwj dj fn;k Fkk\ fVIi.kh dhft;sA 	

(250 'kCnksa esa mÙkj nhft;s)
	 In the face of joint opposition to the unpleasant British Empire, selfish motives were 

no more important. What were the reasons that compelled the rebels to surrender 
despite the high public participation? Comment.	 (Answer in 250 words) 15 Marks
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19-	 xkaèkhth dh fopkjèkkjk ds eq[; igyqvksa dk mYys• dhft;sA ;s igyw fdl çdkj 
tu&ykecanh ds çeq• vL=k lkfcr gq,\ Li"V dhft;sA	 (250 'kCnksa esa mÙkj nhft;s)

	 Mention the major aspects of Gandhiji's ideology. How did these aspects prove to be 
the main tools of mass mobilization? Explain.	 (Answer in 250 words) 15 Marks
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20-	 Lora=krk ds i'pkr~ Hkkjr dh fons'k uhfr dks fuèkkZfjr djus esa fdu rÙoksa dk çeq• ;ksxnku 
Fkk\ foospuk dhft;sA 	 (250 'kCnksa esa mÙkj nhft;s)

	 Which factors were the major contributors to determining the foreign policy of India 
after independence? Discuss. 	 (Answer in 250 words) 15 Marks
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